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Question Paper Code : 3626
 M.Com. (Semester-II) Examination, 2018

APPLIED ECONOMICS
(Quantitative Techniques for Economics

Analysis)
Time : Three Hours] [Maximum Marks : 70

Note : Answer five questions in all. Question No. 1  is
compulsory. Besides this, attempt one question from
each unit. Use of simple calculator is allowed.
dqy ik¡p iz'uksa ds mÙkj nhft;sA iz'u la- 1 vfuok;Z gSA

blds vykok] izR;sd bdkbZ ls ,d iz'u dhft,A lk/kkj.k

dSYdqysVj dk iz;ksx fd;k tk ldrk gSA

1. Attempt the following parts : [3x10 = 30]
fuEufyf[kr Hkkxksa dks gy dhft, %

(a) What do you mean by Transportation Problem ?
ifjogu leL;k ls vki D;k le>rs gSa \

(b) What is ABC Analysis ?
,-ch-lh- fo'ys"k.k D;k gS \

[P.T.O.]
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(c) What are the applications of Game Theory ?
ØhM+k fl)kUr dh mi;ksfxrk,¡ D;k gSa \

(d) Difference between Pune and Mixed Strategies.
'kq) vkSj fefJr j.kuhfr esa vUrj le>kb,A

(e) Find dx
dy  = ?

Kkr dhft, dx
dy  = ?

7x4x3y 23 
(f) What do you understand by Inventory cost ?

oLrqlwph ykxr ls vki D;k le>rs gSa \

(g) Find :
Kkr dhft, %

 


   ?45 2 dxxxex

(h) What do you mean by Saddle point in Game
Theory ?
ØhM+k fl)kUr esa dkBh ds fcUnq ls D;k eryc

gS \
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(i) Draw Arrow diagram
,d ,sjks Mkbxzke cukb,

(ii) Find the critical path
fØfVdy ikFk Kkr dhft,

9. What do you mean by Investment Analysis ? Discuss
phases of Investment Decisions with suitable example.

[10]
fuos'k fo'ys"k.k ls vki D;k le>rs gSa \ fuos'k fu.kZ; ds pj.kksa

ij mi;qä mnkgj.k lfgr ppkZ dhft,A

----- x -----
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(i) What do you understand by Simplex Method ?
flEiySDl fof/k ls vki D;k le>rs gSa \

(j) Explain time value of Money.
/ku ds lkef;d ewY; dh O;k[;k dhft,A

UNIT-I @ bdkbZ&I
2. A radio manufacturer produces '' x  sets per week at a

total cost of Rs. 


  100325
2 xx . He is a monopolist and

the demand for this market is : p375x  ; [10]
where p is the price in rupees per set. Show the maximum
net revenue that is obtained when about 30 sets are
produced per week. What is the monopoly price ?




  100325
2 xx  #- dh dqy ykxr ij ,d jsfM;ks fuekZrk

izfr lIrkg '' x  lsV mRikfnr djrk gSA og ,d ,dkf/kdkj gS

vkSj bl cktkj dh ek¡x gS p375x 
tgk¡ p izfr lsV #i;s esa ewY; gSA tc izfr lIrkg 30 lsV dk
mRiknu gksrk gS rc mldk vf/kdre 'kq) jktLo nf'kZr dhft,

,oa mldh ,dkf/kdkj dher D;k gS \

3. What do you understand by Input-Output Analysis ?
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(i) What is the total annual cost of the existing
Inventory policy ?
ekStwnk buoSUVªh ikWfylh dh dqy okf"kZd ykxr D;k gS \

(ii) How much money could be saved by employing
the economic order quantity ?
vkfFkZd Øe ek=k dks fu;ksftr dj fdruk /ku cpk;k

tk ldrk gS \

UNIT-IV @ bdkbZ&IV
8. A project has the following time schedule : [10]

,d izkstsDV dh fuEu le; lkfj.kh gS %

Activity Duration
1-2 4
2-3 2
3-6 3
2-4 6
1-5 2
5-6 5
4-6 9
5-7 7
7-8 10
6-8 1
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Explain the assumphtions of Input-Output analysis and
also briefly discuss the technological coefficient. [10]
buiqV&vkÅViqV fo'ys"k.k ls vki D;k le>rs gSa \ buiqV&vkmViqV

fo'ys"k.k dh ekU;rkvksa dks le>kb, vkSj rduhdh lg;ksxh ij

la{ksi esa o.kZu dhft,A

UNIT-II @ bdkbZ&II
4. Use the Simplex method to solve the following L.P.P. :[10]

flEiySDl fof/k ls fuEuor ,y-ih-ih- Kkr dhft, %

Max. : Y5X2z 
Subject to constraints :

0Y,X
and9YX

21YX3
24Y4X






5. Solve the transportation problem : [10]
fuEu ifjogu leL;k gy dhft, %

From/To D E F Supply
A 6 4 1 50
B 3 8 7 40
C 4 4 2 60

Demand 20 95 35 150
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Find the initial basic solutions :
izkjfEHkd cqfu;knh lek/kku Kkr dhft, %

(a) North-West Corner method
(b) Least Cost method
(c) Vogel's Approximation method

UNIT-III @ bdkbZ&III
6. Solve the following game : [10]

fuEu xse dks gy dhft, %
















211
212
453

A

7. XYZ Company buys in lots of 500 boxes which is a 3
month supply. The cost per box is Rs. 125 and the
ordering cost is Rs. 150. The inventory cost is estimated
at 20% of unit value. [10]
XYZ dEiuh 500 cDls dk lsV [kjhnrh gS tks rhu eghus dh
vkiwfrZ gSA cDls dh ykxr #- 125 izfr gS rFkk vkns'k ykxr

150 #- gSA oLrqlwph ykxr dk vuqeku 20% ;wfuV ewY; ij

gS %
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